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PART – I 

 
      : 
1. “      .” –  . 14 
 
2.    ,   . 14 
 
3.       . 14 
 
4.  :    14 
 (A)    

 (B)   
 
5.     . 14 
 
6.  -  . 14 
 
7. (A)     14 
 (B)       
 
8. (A)        14 
 (B) ‘’  
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PART – II 

 
9.    MCQ   : 4  2 = 8 
 (1)      ? 
  (A)   (B)  (C)   
 (2)      ____  . 
  (A) : (B)  (C)  (Fossil) 
 (3)      ______  . 
  (A)  (B)   (C)  
 (4)            ______    

. 
  (A)   (B)   (C) - 
 (5)   ______  . 
  (A)  (B)  
 (6)             ______  
  (A)  . (B)  . 
 (7)   =   + ______  . 
  (A)  (B)  
 (8) 16   ‘ ’    . -   / . 

 
__________ 
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PART – I 

 
Answer any three questions.  
1. “Environmental Pollution is an economic problem” – Discuss.  14 
 
2. Explain causes of environment degradation and describe its effects. 14 
 
3. Measures taken for the protection of environment in India. 14 
 
4. Explain :    14 
 (A) The resources of Common Property. 
 (B) Pareto - Optimality 
 
5. Analyse the law of thermodynamic. 14 
 
6. Explain the social-cost benefit analysis. 14 
 
7. (A) Green House Effect. 14 
 (B) Problem of deforestation and desertification.  
 
8. (A) Depletion of Ozone layers and its effects. 14 
 (B) Cause Theorem. 
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PART – II 
9. Answer any (4) MCQ :  4  2 = 8 
 (1) Which of the following pollution is not man made ? 
  (A) Marine Pollution  
  (B) Forest Conflagration  
  (C) Thermal Pollution 
 
 (2) Coal and Natural Gas are called _______ fuels.  
  (A) renewable (B) acidic (C) fossil 
 
 (3) Human activities are causing a _______ of biological diversity. 
  (A) loss (B) positive effect (C) increase 
 
 (4) A change that harms no one but benefits someone it indicates the ______.  
  (A) Pigouvian tax  
  (B) Pigouvian subsidies  
  (C) Pareto-optimality 
 
 (5) The thermodynamics has ______ laws. 
  (A) two (B) three 
 
 (6) According to law of thermodynamics it is ______ to create or destroy energy.  
  (A) possible (B) not possible 
 
 (7) Social cost = Private cost + ______ externalities. 
  (A) Negative (B) Positive 
 
 (8) 16th September is celebrated in the world as “Ozone Day”. (True or False) 

 
___________ 

 
 



SL-137 5 P.T.O. 

Seat No. :  _______________  SL-137 
September-2020 
B.A., Sem.-VI  

CC-314 : Economics 
(EA : Managerial Economics - 2) 

(Repeater) 
(Old Course)  

Time : 2 Hours]  [Max. Marks : 50 
 

PART – I 
 
       : 14  3 = 42 
 

1.     ?       . 14 
 
2.     ,  -  . 14 
 
3.   -           

 .    14 
 
4.        . 14 
 
5.       .   . 14 
 
6.  ,           . 14 
 
7.     ?     . 14 
 
8.   EOQ  . 14 
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9.    MCQ   : 4  2 = 8 
 (1)     ______     . 
  (a)   (b)   
  (c)   (d)   
 (2)         ______   

 . 
  (a)     (b)   
  (c)   (d)    
 (3)        ? 
  (a)  (b)   
  (c)  (d)   
 (4)            ______ . 
  (a)   (b)   
  (c)    (d)    
 (5)          ______ . 
  (a)  (b)  
  (c)     (d)    
 (6)  =   - ______ . 
  (a)   (b)   
  (c)   (d)   
 (7)       ? 
  (a)   (b)   
  (c)  (d)   
 (8)   ABC  ‘A’  ____ . 
  (a) Automatic (b) Anytime 
  (c) Always (d) Anywhere 

_________ 
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From the following questions write the answers of any three questions. 14  3 = 42 
 

1. What is Advertisement Budget ? Explain various methods which determine 
Advertisement Budget.  14 

 
2. Explain the importance of advertising in modern period and discuss Socio-economic 

effects of advertising.  14 
 
3. Explain Pay-back period method and internal rate of return method of capital budget 

with their limitations.  14 
 
4. Explain in detail the internal and external sources of supply of capital. 14 
 
5. Explain break-even analysis with diagram and illustration. Discuss its usefulness. 14 
 
6. Explain the concepts of fixed cost, variable cost and total cost with the help of 

illustration and diagram. 14 
 
7. What is inventory control ? Explain its various aspects in detail. 14 
 
8. Explain EOQ model of inventory control. 14 
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9. From the following MCQs give the answer of any four MCQs. 4  2 = 8 
 (1) Generally advertisement budget is made for ______. 
  (a) one year (b) two years 
  (c) three years (d) five years 
 
 (2) In the method of fixed percentage of sales for determining advertisement budget, 

_______ sales can be considered. 
  (a) Both present and past (b) Only present 
  (c) Only past (d) None of these 
 
 (3) Which of the following is internal source of supply of capital ? 
  (a) Shares (b) Depreciation fund 
  (c) Debentures (d) Public deposits 
 
 (4) If marginal cost is less than average cost, then average cost ______. 
  (a) increases (b) decreases 
  (c) remains constant (d) None of these 
 
 (5) If the sale of a firm is lower than the break-even point, the firm will have ______. 
  (a) profit (b) loss 
  (c) no profit no loss (d) None of these 
 
 (6) Contribution = Selling price – ______. 
  (a) Selling Cost (b) Fixed Cost 
  (c) Variable Cost (d) Total Cost 
 
 (7) Which of the following is not a type of inventory ? 
  (a) Raw material (b) Finished goods 
  (c) Machines (d) Consumable tools 
 
 (8) In ABC method of inventory control, ‘A’ stands for _____. 
  (a) Automatic (b) Anytime 
  (c) Always (d) Anywhere 

_________ 
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 :      . 
 

PART – I 
 
      : 14  3 = 42 
 
1.     ,     . 14 
 
2.    . 14 
 
3.   .     . 14 
 
4.   .    . 14 
 
5.       . 14 
 
6.        . 14 
 
7.    ,      . 14 
 
8.         . 14 
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PART – II 

9.    MCQ   : 4  2 = 8 
 (1)      ? 
  (a)  (b)  (c)  
 (2)         ? 
  (a)  (b)   (c)   
 (3)     ______  
  (a)  (b)   (c)  
 (4)   ‘ ’     ? 
  (a)  (b)  (c)  
 (5)       ? 
  (a)  (b)  (c)   
 (6)       ? 
  (a)  (b)  (c)   
 (7)       ? 
  (a) 1982 (b) 1975 (c) 1985 
 (8)          ? 
  (a)  (b)  (c)  

 
__________ 
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Instructions : Figures to the right indicate marks.  
 

PART – I 
 
Answer the following questions any three : 14  3 = 42 
 
1. Give the various definitions of an entrepreneur and discuss its functions. 14 
 
2. Discuss the characteristics of an entrepreneur. 14 
 
3. Discuss the theory of Entrepreneurship of Prof. Peter Drucker. 14 
 
4. Evaluate the theory of Entrepreneurship of Prof. Schumpter. 14 
 
5. Explain the role of Entrepreneurs in the Economic development of a country. 14 
 
6. Explain the role of Entrepreneurs in the generation of employment opportunities. 14 
 
7. Give the meaning of Micro Credit and explain the objectives and classification of bank 

credit.    14 
 
8. Discuss the financial sources of small and cottage industries. 14 
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PART – II 
9. Choose the right answer (any four) : 4  2 = 8 
 (1) How the word entrepreneurship came into existence ? 
  (a) Entrepreneur (b) Risk (c) Innovation 
 (2) Who generates new opportunities ? 
  (a) Manager (b) Entrepreneur (c) Capitalist  
 (3) Person managing a business ______.  
  (a) Capitalist (b) Entrepreneur (c) Manager 
 (4) Who says that Entrepreneurship is an “Engine of Development” ? 
  (a) Marshall (b) Knight (c) Schumpeter 
 (5) Which type of change is Economic development ? 
  (a) Quantitative (b) Qualitative (c) No one of these 
 (6) In which countries there is a problem of Economic development ? 
  (a) Developed (b) Undeveloped (c) None of these 
 (7) When ‘NABARD’ was established ? 
  (a) 1982 (b) 1975 (c) 1985 
 (8) Where is the main office of Gujarat State Finance Corporation ? 
  (a) Ahmedabad (b) Baroda (c) Surat 

 
__________ 
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PART – I 
 
      : 14  3 = 42 
 
1.      .      . 14 
 
2.        . 14 
 
3.   ‘1991’    . 14 
 
4.         . 14 
 
5.        . 14 
 
6.  1956    . 14 
 
7. .  -    . 14 
 
8.          . 14 
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PART – II 

9.    MCQ   : 4  2 = 8 
 (1) 1991      ______     

. 
  (a) 836 (b) 636 (c) 832 
 (2)    S.W.S.    ? 
  (a)     
  (b)     
  (c)    
 (3)        ? 
  (a) 1956 (b) 1948 (c) 1950 
 (4) ...    ? 
  (a)    
  (b)    
  (c)    
 (5)    ______   . 
  (a) 1932 (b) 1922 (c) 1912 
 (6) 1956     ______   . 
  (a)  (b)  (c)  
 (7) FERA    ?  
  (a)     
  (b)     
  (c)     
 (8) .        ______  . 
  (a)  (b)  (c)  

__________ 
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PART – I 

 

Answer any three questions. 14  3 = 42 
1. Give the meaning of cottage and Small Scale Industries & explain the importance of 

Small Scale Industries in economy of India. 14 
 
2. Evaluate the role of Large Scale Industries in economic development of India. 14 
 
3. Evaluate the Industrial Policy of ‘1991’ of Indian Government. 14 
 
4. Examine the trends of industrial development in India in the last decades. 14 
 
5. Elaborate the industrial development in India after economic reforms. 14 
 
6. Critically examine the ‘1956’ industrial policy of India. 14 
 
7. Explain Prof. Baumol’s sales revenue maximizing model.  14 
 

8. Mention the characteristics of individual firm and partnership firm. 14 
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PART – II 
9. MCQ  : Choose the correct option. (any four) 4  2 = 8 
 (1) _______ goods of production are reserve for SSI units in the Industrial policy of 

1991. 
  (a) 836 (b) 636 (c) 832 
 
 (2) In the SSI units the S.W.S stands for ______  
  (a) Single Window Scheme  
  (b) Social Welfare Scheme 
  (c) supplementary Welfare Scheme 
 
 (3) The first industrial policy in India was declared in ______ year. 
  (a) 1956 (b) 1948 (c) 1950 
 
 (4) M.O.U. stands for 
  (a) Monopoly of Unit 
  (b) Memorandum of Understanding  
  (c) Memorandum of utility. 
 
 (5) Law of Partnership firm has been implemented from ______. 
  (a) 1932 (b) 1922 (c) 1912 
 
 (6) The industry was divided into _____ categories by the industrial policy of 1956. 
  (a) three (b) four (c) five 
 
 (7) The term FERA means 
  (a) Foreign Export Regulation Act 
  (b) Foreign Exchange Regulation Act 
  (c) For Enterprising Regulation Act 
 
 (8) In Baumol’s sales revenue maximization model, a firm treats its profit as              

a __________. 
  (a) non-constraint  (b) constraint (c) Unlimited 

__________ 
 

 


